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Part II 3-Tier
ADVANCED FINANCIAL ACCOUNTING
PAPER—G3
(General)
Full Marks : 100
Time : 3 Hours

The' figures in the right-hand margin indicate full mdrks.-

Candidates are required to give their answers in their

own words as far as practicable.

fllustrate the answers wherever necessary.

1. Answer any five questions : © 4X35

{a} What is Accounting Standard ? How are they set in

india ?

{Turn Qver)



(b} What is the need for IFRS?

(c) What is Purchase Consideration and how 1is it

calculated ?

(d) How would you value shares under Asset Backing

Method ?

(e} Explain clearly the indemnity period.

() Distinguish between loss of stock policy and loss of

profit policy.

{g) State in brief the steps of computing capital employed

o

(h} What do you mean by Average Clause Principle in

Insurance Claim Computation ?
(i) What do you mean by capital reduction ?

{j) Distinguish between interest and dividend.

2. Answer any five questions : ; &x5

(a) State the need for formation of Accounting Standard »

and its different Accounting Bodies. 8
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(b) A Ltd. Co. has paid up capital of Rs.6,00,000
represented by 1,00,000 equity shares of Rs. 10 each,
Rs. 6 per share paid up. The company has large
balance in its General Reserve A/C. A borlus of

Rs. 10,00,000 is declared which is applied as :

{i) to convert the partly paid shares into fully paid
shares and '

(ii) to issue 60,000 fully paid bonus shares of Rs. 10

each to the existing shareholder. !

Show the necessary journal entiers. o 8

(c) A company has 4,000, 6% redeemable Pref. Shares of
Rs. 100 each fully paid. The Co. decided to redeem
the shares on Dec. 31, 2016, at & premium of 5%.

The Co. makes the following issuss :

(a) 1000 Equity shares of Rs. 100 each at a premium
of 10%. ’

{b} 1000, 6% Debentures of Rs. 100 each.

' i
IR The issue was fully subscribed and allotments were

made. The redemption was duly carried out. The
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‘company has sufficient profits. Give journal entries

to record the above transactions. 8

e

(dy Explain the different methods of valuation of shares.

8

{(e) Give Journal entries for the following transactions in

connection with capital reduction :

(i 40000 equity shares of Rs. 10 each fully paid
reduced to shares of Rs. 5 each fully paid.

(ii} 200, 8% debentures of Rs. 1000 each converted
into 400, 6% debentures of Rs. 100 each. -

{iii The debit balance of P& L A/c Rs. 1,00,000 and
the preliminary expenses Rs. 50,000 were written

off.

(iv) The value of Plant & Machinery and Stock were
written down by Rs. 40,000 and 20,000

respectively.

. (f) A fire accident occurred in the business of P & Ca_

on lst Sept. 2016 and stock value Rs. 51,000 could
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be savedThe following information were supplied to

you :
;Rs.

PiEeRGer year ended 31.3.2016 3,50,000

Sales forthe year ended 31.3.2016 5',50,;')00

Purchass from 1.3.2016 to 1.9.2016 1,20,000

Sales frm 1.3.2016 to 1.9.2016 1,80,000
Stocks n 31.3.2015 1,50,000
Stocks b 31.3:2016 1,70,000

Ascertairthe amount of claim to be lodged to the

insurene co in respect of loss due to fire. 8

{g) What dcyou mean by Goodwill? Mention two

importah methods of valuation of Goodwill ? 2+6

(h) Prepardnvestment A/c (8% Govt. Bonds face value
Rs. 10Cekach) from the following for the year ended
31.12.206 :

(1) Puthases 200, 8% Govt. Bonds for Rs. 18,400
fexriterest) on 01.03.2016.
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(i} Purchased 100, 8% Govt. Bonds for Rs. 10,500
{cum-interest) on 31.08.2016.

-~

(iiij Sold 150, 8% Govt. Bonds for Rs. 15,900 (ex-
interest) on 31.10.2016.

Interest on Govt. Bonds is payable annually on
31.12.2016. 8

(ij (a) Distinguish between Amalgamation and

Absorption of companies.

(b) Distinguish between internal and external

reconstruction of a company. 4+4

-

(j) State the advantages and limitations of Accounting
Standard. 8

3. Answer any two questions : 15x2

(a) X Ltd. and Y Ltd. agreed to amalgamate. A new
company XY Ltd. was formed to take over the above
two companies as on 31st March 2016. The Balance
Sheet of the two companies as on that date are given™.

below :

C/17/B.Com./Part-1I{G)/3T(N)/G3 {Continued]



Liabilities X Ltd Y Lid Assets X Ltd Y Lid

Share Capital : Goodwill - 50,000

- |
Equity Share of Land & Building  2,50,000 2,00,000

|
Rs. 10 each 8,00,000 5,00,000 Plant & Machinery 4,50,000 3,50,000

Capital Reserve 2,00,000 -— Patents 1.10,000 —

Genera! Reserve — 50,000 Stock 1,50,000 £0,000
o

P&LAJ 50,000 50,000 Sundry Debtors 1,20,000 20,000

Sundry Creditors 80,000 50,000 Cash at Bank 50,000 10,000

11,30,000 6,50,000 11,30,000 6,50,000

Show the Journal entries and opening Balance' Sheet
of XY Ltd, :  10+5
(b) From the following Balance Sheet of P Ltd. you are
asked to ascertain the value of each equity share of

the company :

- Liabilities Rs, Assels ! Rs.
40,000 Eq. Sh. of Goodwill ' éo,ooo
#. Rs. 10 each fully Land & Building  2,00,000
paid 4,00,000 Plant & Machinery  2,40,000
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contd..

Liabilities Rs. Assets Rs.
2000, 6% Pref. Sh. Investment (at cost} 1,20,000
of Rs. 100 each Stock 1,00,000
fully paid 2,00,000 Debtors 80,000
Reserve, 1,20,000 Cash at Bank 48,000
Sundry Creditors 80,000 Preliminary Exp. 12,000

Provision for Taxation 40,000

Other _Liabilities 20,000
8,60,000 8,60,000

For the purpose of valuing the share of the company

the assets were revalued as under :

Goodwill — Rs. 1,00,000 ; Land & Building at cost
plus 50% ; Plant & Machinery — Rs. 2,00,000 ;
Investment at Book Values ; Stock — Rs. 1,60,000
and Debtors at Book Value less 10% [Apply and
approach].

{c} () What are the various types of Mechanical

"Accounting ?

{ii) What are the features of Accounting Machines ?
8+7

[ Internal assessment — 10 marks ]
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{(#) A Ltd. Co. has paid up capital of Rs. 6,00,000
represented by 1,00,000 equity shares of Rs, 10

each, Rs. 6 per share paid up. The company has
large balance in its General Reserve A/C. A bonus
of Rs. 10,00,000 is declared which is applied as :

(i} to convert the party paid shares into bully paid

shares and

(i} to issue 60,000 fully paid bonus shares of Rs.

10 each to the existing shareholder.

Show the necessary journal entiers. b
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A company has 4,000, 6% redeemable Pref. Shares
of Rs. 100 each fully paid. The Co. decided to
redeem the shares on Dec. 31, 2016, at a premium

of 5%. The Co. makes the following issues :

(a) 1000 Equity shares of Rs. 100 each at a

premium of 10%.

{b) 1000, 6% Debentures of Rs. 100 each.

The issue was fully subscribed and allotments were
made. The redemption was duly carried out. The

company has sufficient profits. Give journal entries

to record the above transactions. 4

orie wepraers RfSw orafeafe aran 9|

Give Journal entries for the following transactions

in connection with capital reduction :

(i) 40000 equity shares of Rs. 10 each fully paid
reduced to shares of Rs. 5 each fullfy paid.

(ii) 200, 8% debentures of Rs. 1000 each :converted
into 400, 6% debentures of Rs. 100‘i each,
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(i} The debit balance of P& L A/c Rs. 1,00,000 and
the preliminary expenses Rs. 20,000 were

written off.

(iv) The value of Plant & Machinery and Stock were

written down by Rs. 40,000 and 20,000

respectively,

(%) A fire accident occurred in the business of i W wo

on 1st Sept. 2016 and stock value Rs, 31,000 could
be saved. The following information were supplied
to you :

Rs.
Purchase for year ended 31.3.2016 3,550,000
Sales for the year ended 31.3.2016 5,50,000

Purchases from 1.3.2016 to 1.9.2016 1,260,000

Sales from 1.3.2016 to 1.9.2016 1,80,000
Stocks on 31.3.2015 1,50,000
-Stocks on 31.3.2016 1,70,000

Ascertain the amount of claim to be lodged to the

insurence co in respect of loss due to fire. b
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(¥) Prepare Investment A/c (8% Govt. Bonds face
value Rs. 100 each) from the following for the year

ended 31.12.2016 :

(i) Purchases 200, 8% Govt. Bonds for Rs.‘i 18,400
(ex-interest) on 01.03.2016. '

(iiy Purchased 100, 8% Govt. Bonds for Rs, 10,500
{cum-interest) on 31.08.2016.

(iii) Seld 150, 8% Govt. Bonds for Rs. 15,900 (ex-
interest} on 31.10.2016.

Interest on Govt. Bonds is payable annually on

31.12.2016. ; »
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Liabilities X Lid Y Ltd

Assets X Ltd Y Ltd

Share Capital :
Equity Share of

Rs. 10 each 8,00,000 5,00,000
Capital Reserve 2,‘00,000 —
General Reserve — 50,000

P&L A/ 50,000 50,000

Sundry Creditors 80,000 50,000

11,30,000 6,50,000

Goodwill — 50,000
Land & Building 2,50,000 2,00,000
Plant & Machinery 4,50,000 3,50,000
Patents 1,10,000 —
Stock 1,50,000 20,000
Sundry Debtors 1,20,000 20,000

Cash at Bank 50,000 10,000

11,30,000 6,50,000

YIS MiRENsi orite @38 XY Ltd.-93 999 Seesg
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(W) P Ltd.-47 fasfifis Swesm (e ofu ofol 293l
CRRTICSE SR =il
Liabilities Rs. Assets Rs.
40,000 Eq. Sh. of Goodwill 60,000
Rs. 10 each fully Land & Building 2,60,000
paid 4,00,000 Plant & Machinery 2,40,000
2000, 6% Pref. Sh. Investment (at cost]  1,20,000
of Rs. 100 each Stock ~1,00,000
fully paid 2,00,000 Debtors ?30,000
Reserve 1,20,000 Cash at Bank 48,000
Sundry Creditors 80,000 Preliminary Exp. ‘I12,0(-)0
Provision for Taxation 40,000 I
Other Liabilities 20,000
8,60,000 ~£,60,000

For the purpose of valuing the share of the company

the assets were revalued as under :

Goodwill — Rs. 1,00,000 ; Land & Building at cost
plus 50% ; Plant & Machinery — Rs. 2,00,000 ;
Investment at Book Values ; Stock — Rs. i,60,000

and Debtors at Book

approach].
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